
Soustraction Pâques (C)Obtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/25106 117 60 100 144- 51 - 57 - 54 - 67 - 66
41 107 112 118 92- 11 - 36 - 28 - 91 - 67

140 31 175 178 109- 51 - 27 - 80 - 84 - 67
94 104 125 97 67- 66 - 89 - 96 - 48 - 6
90 149 69 83 25- 89 - 98 - 10 - 5 - 23
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Soustraction Pâques (C) RéponsesObtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/25106 117 60 100 144- 51 - 57 - 54 - 67 - 6655 60 6 33 78
41 107 112 118 92- 11 - 36 - 28 - 91 - 6730 71 84 27 25

140 31 175 178 109- 51 - 27 - 80 - 84 - 6789 4 95 94 42
94 104 125 97 67- 66 - 89 - 96 - 48 - 628 15 29 49 61
90 149 69 83 25- 89 - 98 - 10 - 5 - 231 51 59 78 2
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